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The following diagram shows a cross-section through an ocean. A number of
organisms (plants and animals} live in the different regions of the ocean and
depend on one another and on the Sun for survival.
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Questions for Life in the Oceans begin on the next page. ‘
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Look at the list of organisms (plants and animals) below. They all live in the
Neritic Zone.

Organism Description

Phytoplankton Microscopic plants that photosynthesize

Zooplankton Microscopic animals that feed on phytoplankton

Tuna Medium sized fish that feeds on small fish
Herring Small fish that feeds on zooplankton
Shark Large fish that feeds on other fish

Whale Large mammal that feeds on zooplankton

A, Complete the food web on the chart below to include all the organisms listed
in the table, Write the name of one organism in each ¢ircle.

The information given about each organism will help you. Three organisms
have been placed on the chart for you. The arrows show the direction that

energy flows through the food web.

Phytoplankton

\l/ {eaten by)

AV

-
-
=
)
=
=

This Life in the Oceans Question continues on the next page. ‘

Copyright © 2008 Internatlonal Assoclation for the Evaluation
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‘ Fills in food web with all organisms in correct position (as shown in diagram below).

| | Incorrect Response

70 Asin Code 10 but reverses shark and herring.
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B. Ome year tuna becomes scarce because of over-hishing. State what is most
likely to happen to the population of sharks and explain your answer.

Questions for Life in the Oceans continue, *
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The organisms that live in the intertidal zone have special adaptations that allow
them to survive the effects of tides.

Select an organism from the intertidal zone. ldentify a physical feature or
behavior of this organism. Explain how this feature or behavior helps the
organism to survive low tide.

Name of organism:

Feature or behavior:

Explanation:

Questions for Life in the Oceans continue. *

aall il dgalsar Ll st duald LA dally aal) ddhaie 8 Giad ) ol el
-l
s 4 aty ald Sl of 4l 3)ae aaa H3ally aal) dshie 8 (s WSS 4
L)
atyslall g o cplsll ol 8 clac Ly laladl @l syl ol o (S 75l o5

tdgad) A3l moaait) Jula -5
Ol A Dl Al AR Capat ) A dsaaall LAY 8 ALK A6l dals A gale
pe Baals By ) o ba sl 8 sacliy aS5le () miags 4Ssla lialy Laladdl)
Omayitall (ayilly 12l 5 elall (ai , p3adl ) el (8 clall mlas (ssiue (alid)

82



s o> SIS S e Al Gl Al L Ly - (0 zlsells dagldl il
Lald desdd QSlp Lgal Aall QK IS alas il el xe ool A s
DU Ll (Says o el o JilB ae (s0SH ans) B aans) @llal) dalal

s Aulal dlly ()

(S032695) il HRRY

damas AlaY)

Ll Dudag a8 b licaly Al AN Gy

s Al

S G815 A sl slaall (it iatl meal) Lpainmy (po Tam A s Alaiiye olandl) GilS#
o) Aa ciadl el (8 eids ol Gapnal) pland) dalue Qi) (e gana (b (i )
Jsv 058l Qa1 Cindy olaall el e il Jljll b sl olaindiaal) (laju *
pball o lailly (a1 215l A )a uin Fulia 8,88 Lpana

) Jae e Iy leans (o A 05S55 Jsdaalls uaili a8y Galacal L) il *
ity Loy st 3 Llaal) alissly 451l pe Lol s (AL o Jpeanll ¢132)) o20)
Jedlaal Jala sluall op3as

oSkel ) Caais e Jinll Jal el (3saill 8 o Jloyll 8 Lgwsis (85 Culal) ol Gl *
21l e Gl Heaall Jalag aall e

iV are lpamay BLaiDU culpal Ley Lppl ol ) joaially Gaaili jal) agai *
2 l5e¥) A olal) (s o aliilly uly8Y) il

fama g Al ally)

Ao e ALy
Bl e IS aspng o) g sy 4SS ae habadal e all ISI Capary

lae je ga) clls)

canin Uhls it gy of 4S5l il pae go Taladall (g o) CAISH Gty
gl la e L) Gl Alle S padll fedadl) et Uad 5 a1 Ala)
Ala) s Y

g

83



tAg ey ARy sl Juda -6

Subject H Grade “ Blockm Block Seq “

Note:  For full credit, responses must identify an organism in the diagram, describe a feature or behavior
of this organism, AND explain how this feature/behavior helps the organism to survive at least
one effect of low tide: lack of water, lack of food, exposure to predators or elements, changes in
salinity, or effects of wave action. Following is a list of specific features/behaviors expected for
each organism and the effect of low tide that the adaptation helps the organism to survive, All of
the organisms also have special gill structures that allow them to exchange gases (oxygen/carbon
dioxide) with very little water, and this also is to be considered as a correct response.

Sea Close up (lack of water, salinity, predators); live in clusters (lack of water reduces
Anemones exposed body surface area); attach to rocks (wave action)

Mole Crabs | Burrow into the sand (lack of water, predators); hard shell (wave action, lack of water,
predators)

Musselsand | Attach to rocks (wave action); hard shell (wave action, lack of water, predators); close
Barnacles up (lack of water, salinity, predators); lowers metabolism rate (lack of food, lack of
water for removing toxic waste build-up)

Fiddler Crabs | Burrow into sand or crawl into crevices (lack of water, predators); legs/mobility (lack of
water/food, predators); hard shell (wave action, lack of water, predators)

Sea Stars Suction cups/attach to rocks (wave action); tube feet/mobility (lack of water/food,
predators, gas exchange); hard/spiny surface (wave action, lack of water, salinity,
predators)

Code | Response ‘ Item: 5032695

| Correct Response

20 | Identifies an organism, describes a feature/behavior, AND gives an explanation.
Examples:

Sea anemones. They close up. It keeps them from drying out during low tide.

Mole crabs. They dig into the sand, They are not exposed at low tide,

Mussels. They have hard shells. They can store water inside their shells.

Fiddler crabs. They have legs and can crawl into the tidepool and rocks to find food.
Barnacles. They close up and have hard shells. The predators cannot eat them.

Sea stars. Suction cups on their legs. Atfach to the rocks and not get swept to sea.

29 | Other fully correct

Partial Response

10 | Identifies an organism and describes a feature/behavior; NO explanation or inadequate
explanation given.

Examples:

Sea Anemones. They close up; Mole crabs. They can dig into the sand; Mussels. Have shells.

19 | Other partially correct

Incorrect Response
70 | Only identifies an organism from the diagram but with no or incorrect description of
feature/behavior.

79 | Other incorrect (including crossed out/erased, stray marks, illegible or off task)

| Nonresponse
99 ‘ Blank
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Fewer species of organisms (plants and animals) have been found living in the

depths of the oceans than in the regions closer to the surface. Organisms living at
the bottom of the ocean must be adapted to the conditions there.

MName two conditions that are found at the bottom of the ocean that make it
difficult for maost plants and animals to live there.

1.

&

End of Life in the Oceans section. .
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Subject H Grade “ Blockm Block Seq “

Note: Fach of the two responses is coded separately. Each correct diagnostic code (10,11,12,13) may be

used only once. If the two responses are essentially the same, the second response should be
coded as 79, For example, if a response states “the sunlight cannot penetrate that deep” and “not
enough light for photosynthesis”, then the first response is given Code 10, and the second is given
aCode79. Il only one response is given, the second should be given Code 99.

Code ‘ Response Ttem: S0326974,B
‘ Correct Response
10| Mentions lack of light.

11 | Mentions low temperatures.

12| Mentions high pressure.

13 | Mentions lack of food.

19 | Other correct

Examples:

It is too salty at the bottom, so some species cannat live there.

There are poisonous gases from volcanic vents at the bottom of the ocean.
Low visibility.

‘ Incorrect Response

70 | Mentions only lower oxygen (carbon dioxide, air) levels in deep water. [NOT a general
condition found at great ocean depths. |

Examples:

There would not be enough oxygen for the fish to breathe.

Note: While lower oxygen levels do occur in some regions of the ocean, it is not a general
condition that exists purely due to depth (gas szturation increases with decreasing temperature
and increasing pressure). ‘The level of oxygen is a complex function of depth with a minimum-
oxygen zone in the 500 - 1000 meter range, related to the breakdown of organic matter below
the photic zone and convection that mixes the deep ocean water. Responses that refer ONLY to
low oxygen levels will, therefore, be scored as incorrect. For more sophisticated responses that

describe the minimum oxygen zone at intermediate depths, a Code 19 may be given.

71 | Mention only predators (or similar). [NOT specific to the bottom of the ocean.]

79 | Other incorrect (including crossed out/erased, stray marks, illegible or off task)

‘ Nonresponse
99 | Blank
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In living things, large and complex molecules are broken down into small and
simple molecules.

What is this process called?

Y excretion
(B} absorption
) digestion

M circulation
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Keith had influenza. He played a game with two friends. One of his friends
caught influenza, but the other friend did not.

What could have been the reason why one of the friends did NOT catch
influenza?
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[ Code | Response [ Ttem: S042313

Correct Response

10

[

Refers either directly or indirectly to the immune system.
Examples:

He may have had it already.

He was vaccinated.

He has a good immune system.

Refers to not being in close contact or taking preventative measures.

Examples:

He didn't let Keith sneeze on him.

He washed his hands after playing.

He wasn'l in conlact with his saliva.

He might not have had body contact with Keith,

He may have stayed farther away than the other friend.

19

Other correct

[ 71

91

99

Incorrect Response

Refers to just being healthier or not getting sick as easily.

Examples:

His health might be stronger.

Because maybe he doesn't get sick that easily.
| Refers to having a good diet.

Examples:

Maybe he eals a balanced diel.

Maybe he eats lots of fruit with vitamins.

: Nonresponse
Blank
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i) guide
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Which food contains the highest percentage of protein?

\'i.'.',; rice

f@? dates
(T carrots
()

@ chicken
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How does the average body temperature of people living in hot climates
compare to the average body temperature of people living in cold climates?

{Check one box.)
|  Higher in hot climates
| Lower in hot climates

| The same in both climates

Explain vour answer.
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Note: i) Explanations that specifically mention the following should receive Code 10:
a) Humans being warm blooded OR
b) Temperature remaining constant at 37 degrees C or 98.4 degrees F OR
¢) The body only being able to function within a small range of temperatures OR
d) References to sweating, shivering, etc., as mechanisms for maintaining constant body
temperature, (Responses that only state sweating, shivering, etc. without further explanation
should be given code 70).

ii) If the numerical value is incorrect, but the concept is correct, score as Code 10.

Code | Response l Item: 5042011
‘ Correct Response
10 | The same in both climates with a specific explanation as indicated in the note above.
Examples:

Humans are warm blooded so they don't rely on the climate to change body temperatures.

The bady temperature is the same in all humans,

I's 98.6.

The same in both climates because all body temperatures are around the sane degrees.

People in hot climates sweaf to maintain their body temperafure.

People in hot climates sweal to keep their temperature constant and people in cold climates need fo
wear much heavier clothing.

' Incorrect Response

70 | The same in both climates with a vague, incorrect or no explanation,

Examples:

I think it would be the same because your body doesn't change just because of the temperature,
Body temperature is not affected by the surrounding environment.

Swealing.

The people in hot climates will iry to keep themselves cool while the people living in cold climates
will try to keep themselves warm.

71 | Higher in hot climates with or without an explanation.

Examples:

The blood and body are warmed by the hot climate.

Because in an atmosphere with higher temperature, our body temperature increases too,

The weather is hotter, so the body temperature average will be slightly larger and vice versa with
colder climates.

72 | Lower in hot climates with or without an explanation.

Examples:

In hot climates, our bodies will fry to adapt to it by giving out heat by the nerves. In cold climates,
our bodies will also try ta adapt to it by preventing heat loss.

The people living in hot climates need lower body temperature so that they wauld not feel that hot.

79 | Other incorrect (including crossed out, erased, stray marks, illegible, or off task)

‘ Nonresponse
99 ‘ Blank
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